vl

1. o=dA%2A

5%
rlo

29

2] AlF2 V2i 2t —+2iolth

@ V-2x V=3 =-./(-2)(-3)
Qii
F 2
@\/Tﬁz




i(x+ i) = i(x® + 3x% — 3x — i)

= (=322 +1) + (x* - 3x)i
A57E H7] A= SR 0
L x2=-3x=0
x(x2-3)=0
x=0, £ V3




o b

A

T z=(2+0)a®+ (1+4i)a+2(2i-3)°] =35 of, A
()

3 )
® -2 @1 @5 ® > ® 3
z=(2a>+a-6)+ (a*+4a+4)i
ool B2 24 +a-6=0
= (a+2)(2a-3)=0
(=1 a:—QE%a:g
JHY g =299,
a® +4a+ 4 = 00°] Hoj £357t AHHA et

3
a=—

2




4, y=

® x

® x=3,y=0

@sz,y:—2

=4

® x=-1,y

@ x=4,y=0

x, y=AgolBg 2x-6=0, y+2=0
-2

(2x-6)+(y+2)i=0
=>x=3, y




S (x +yi)(z - i) = 102 TEoHE AAS x,y, 22 A4

o A2 Fatelet. (@, i— v-1)
> 4

> He: 3A

B

(xz4+y)+ (yz—x)i =10

xz+y=10 ---Q@, yz-x=0 ---©
O=0°l Y

y(Z2+1) =10

€ 71EL R 5t £ME FellEd
(5,5 1), (4 2, 2), (3, 1, 3) 371




6.

o =

x, y7‘|_o]:o A 4=o] 11, x2+xyi+y2—5—2i:0%] UH,)H—)/—O’] =
)

M550} 5452 Liet),
(** +3*=5)+ (xy-2)i=0
x2+y2—5=0"'®
xy—-2=0---©

8. 0% Ayt
(x+y)2=x+y2+2y=5+4=9
L xt+y=3(- x, vy = %9 *EL/,\—)




the A2 MEATE A x, yE T W, 2 4)2 9] g T L

(1-2xi)(2—-yi)=6-2i (F,x>0)

B *
(2-2xy)— (dx+y)i=6—2i

2 2xy =6, dx+y=2

A5t x of Hisf gl std

2x2-x-1=0

(x-1)2x+1)=0

L x=1(x>0),y=-2




\/_(3«/_ 3V=8+4 V=32) & AAtslH?

@ i @% ® —i @—%

(3\/'1 6\/§i+4\/§i)




J=V-1E 200 gl

® 1 @
® V1 @ V1
® F /i) gtg ZEnt

7= (VDR = (VTR = -1

o 012 = (j4)503 = (1)503 = _]




10. f(x)= (1+x>1998‘§ Hﬂ,f(l_i,) +f(%)sq 7re9

I-x 1+

(ON( @ i ® -2i @ -1 @—2

B

1-i  (1-9)? _ %
1+i (A+H1-i) 2

o 2 o
1+i (149) :%:iO]Eg

1-i  (L-i)(1+i) 2
(7 (G5)
= f(=0) +f()

— (—i)1998 + (i)1998
— (—i)1996 . (_i)Q + i1996 . i2 — _9




-\ 2005 -\ 2005
1L (FE07 (1) e e ebay

1= 1+
@o @ i ® 1 @®1+i O 1-i
1+:i | 1-i .
=1, T = 1
1-1 1+

L4 i\2005 /1 _ ;2005
( 1= i) + (1 n i>
— i2005 + (_i)2005
= % i (DO ()
=i+ (-i)=0




sholat,

_—[L

40 4G5 n ] S

st

juj =Sy
=

=1
1+i) =

12, (

e

ul

—
=
a || L
|
S~—
&=
4
—
S~—"
I
N,
||+
— |

£ 249 4A5E g0t

ueby 278 wel




13. A&y, yoﬂtﬂo}oq A z=x+yi 7tz =4 F WL 0, 2% +)?
o] #2? (& z =z 9 AdFAagolt)

D1 @ 2 ® 3 @4 ® 5

B ~

z=x+yi X z=x-yi o|BZ
72-72= (x +yi)(x —yi) = x2 +y?
FolZ 27X z-z=4°|BE=
¥ +y:?=4




® Q0

@lﬂ'f—ﬂ]:azl,ﬁ:i
© (B2




2 o heto] Thgo) 17 %

2 o] el Basq))

2 A, ® ® 906,06

®oa.0,0 0

® 9,0
® 906

B

Z:a+bi,z:a_bi
Oz=d+b>=4$

©z+z=(a+bi)+

(a=bi)=2a=0,a=0

©z+z7=2a=> 4

L z=bi =55 (o

@Z z: (a+bi) (a — bi) = 2bi
Z_Z: __E TL'O:IZI\_7]- 01-14]:1-‘

@ —ctdid® I _c_giomzz
Z Z Z

z#0° B2 b #0)




16, z=1+i @ ul, el grenmhi= Vo1, 22 0 FeflRad)

D 1+i @ 1-i ®1 @ i @—i

z=1+i°Hz=1-i0|c}
Sz (+)-i) 2
Tz (I+i)-(1-i) 2




%Fe] A% a, bol hste] the B
Sl4ekel) of B2 vkl 4 9l AL

® -3+ @ 2+3i
@ 1-3i ® -4-2i

~&B

=a(l+i)+b(1-i) (ie

®)5—2i

z=(a+b)+(a—b)icA (a>0, b>0)
DQa+b=-3,a-b=1

L a=-1, b=-2 (%4Y)
@a+b=2a-b=3

5 1
azi’ 2—5 (E—un%})
®a+b=5 a—b=-2
3
a=3, b=1 (32 4%)

@a+b=1,a-b=-3
Ca=-1, b=2 (FAF)

®a+b=-4a-b=-2
a=-3, b=-1 (%A%




1+ V3i
18.
"= 1- 3i

@l (w+20%)? + (2w +w?)? O] G2 FIHA L

=
| — ]

| 2
> H™e: o3

B

1+ VBi -1+ VB

T 1-B 2
w4t w+1=0, wi=1
(w2w?)? 4+ 2w+ w?)?
=w-2w-2)24+(2w-w-1)?
=(-w-22+w-1)
=w?+dw+4+w2-2w+1
=22 42w+ 5

=2w? +w+1)+3

=3







<

=

20. % — 2 A,

=

VO -2+ 1242 /a8 =% = 3xy(x - y)+ | x [ S D3] 5HA?

® x-1 @D—x+l ® 2y-3x+1
@ 3x-2y-1 ® -3x-2y-1

~&B

%:— Ym0 x<0

(FA) =ly-x+11+° (x-y)*+ | x|

=y—-x+1l4+x—-y—-x=-x+1




